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10.

ltem-A
A.
B.
C.
D.

GENERAL AWARENESS

S.D.R with reference to IMF stands for:

(1) Special Dollor Rights  (2) Special Drawing Rights
(3) Single Drawing Rights (4) Sunk Drawing Rights

The hair of shaving brush clings together when
removed from water due to:

(2) Viscosity
(4) Friction

(1) Surface tension
(3) Elasticity

Protein deficiency disease is known as:

(1) Kwashiorkar
(3) Gaucher's disease

(2) Cushing's disease
(4) None of the above

ASSERTION (A): The President of India can issue a
proclamation of emergency under Article 352(1) of
Constitution on the advice of the Prime Minister.

REASON (R): Where a proclamation of emergency is in
operation, the President may suspend the operation of
all fundamental rights except Article 20 & 21 of
Constitution.

(1) Both A and R are true and R is correct explanation of A

(2) Both A and R are true but R is not correct explanation of A
(3) Alis true but R is false

(4) Ais false butR is true

The BRICS Bank would have its headquarter in?
(1) India (2) Russia
(3) China (4) South Africa

Who among the British Generals defeated Peshwa Baji
Rao Il

(1) Outrum
(3) Elphinstone

(2) Malcom
(4) Kitchener

Which of the following is the group of terrestrial
planets within the solar system?

(1) Mercury, Earth, Mars, Jupiter

(2) Mercury, Earth Venus, Jupiter

(3) Mercury, Earth Mars, Saturn

(4) Mercury, Venus, Earth, Mars

Match the following (Item A to B)
Item-B
Revenue Deficit 1. Fiscal Deficit — Interest payments
Primary Deficit 2. Total Expenditure — total receipts
Budget Deficit 3. Budget Deficit— borrowings & other liabilities
Fiscal Deficit 4. Revenue expenditure — Revenue receipts
(1) A1,B2, C3,D4 (2) A4, B2, C3, D1
(3) A2,B4,C1,D3 (4) A4,B1,C2,D3

Iron loses magnetic property at:

(1) Melting (2) 1000K
(3) Curie point (4) Boiling point

The characteristic smell of onion bulbs is due to:

(1) Bad odour of soil, where grown
(2) Sulphur compounds

(3) Sugar

(4) Reserve carbo-hydrates
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11.

12.

13.

14.

15.

16.

17.

18.

19.

DISCIPLINE / TECHNICAL APTITUDE

The losses are more in which type of flow

(1) Laminar flow
(3) Turbulent flow

(2) Transition flow
(4) Critical flow

The most common device for measuring discharge
through channels is

(1) Venturi flumes
(3) Pitot tube

(2) Current meter
(4) All of the above

An open tank contains 1m deep water with 50cm depth
of oil of specific gravity 0.8 above it. The intensity of
pressure at the bottom of the tank

(1) 4KN/m? (2) 10KN/m?
(3) 12KN/m? (4) 14KN/m?

In steady flow of a fluid, the total acceleration of any
fluid particle

(1) Can be zero

(2) Is never zero

(3) Is always zero

(4) Is independent of coordinates

The bending equation is

(1) M/=oly=ER
(2) Td=1/R=Cl/
3) MY =0/I=EIR
(4) None of the above

The sequence of four stages of survey in a highway
alignment is

(1) Reconnaissance, map study, preliminary survey and
detailed survey

(2) Map study, reconnaissance, preliminary survey, and
detailed survey

(3) Map study, preliminary survey, reconnaissance, and
detailed survey

(4) Preliminary survey, map study, reconnaissance, and
detailed survey

In CBR test the value of CBR is calculated at

(1) 2.5mm penetration only
(2) 5.0mm penetration only
(3) 7.5mm penetration only
(4) Both 2.5mm and 5.0mm penetrations

A shallow foundation is defined as a foundation which

(1) has low bearing capacity

(2) has a depth of embedment less than its width
(3) is resting on the ground surface

(4) causes less settlement

A soil has a bulk density of 22KN/m® and water content
10% the dry density of soil is

(1) 18.6 KN/m® (2) 22.0KN/m®
(3) 20.0 KN/m® (4) 24.2 KN/m®
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20.

21.

22.

23.

24.

25.

26.

27.

28.

When the plastic limit of a soil is greater than the
liquid limit, then the plasticity index is reported as

(2) Zero
4) 1

(1) Negative
(3) Non — Plastic

For good bonding in brick masonry

(1) all bricks need not to be uniform in size

(2) bats must be used in alternate courses

(3) the vertical joint in alternate courses should fall in
plumb

(4) cement mortar used must have surkhi as assistive

Weakest section is a fillet weld is

(1) throat of the fillet

(2) smaller side

(3) side parallel to force

(4) side perpendicular to force

The relationship between the radius of curvature R,
bending moment M and flexural rigidity El is given by

(1) R= M/EI (2) M=ER
(3) El=RM (4) E=MIR

The most commonly used admixture which prolongs
the setting and hardening time is

(1) Gypsum

(2) Calcium Chloride
(3) Sodium Silicate
(4) all of the above

The main reason for providing number of reinforcing
bars at a support in a simply supported beam is to
resist in that zone

(1) Compressive stress
(2) Shear stress

(3) Bond Stress

(4) Tensile stress

The minimum diameter of longitudinal bars in a

column is

(1) 6mm
(3) 12mm

(2) 8mm
(4) 16mm

The diameter of ties in a column should be

(1) More than or equal to one fourth diameter of main bar

(2) More than or equal to 5mm

(3) More than 5mm but less than one fourth diameter of
main bar

(4) More than 5mm and also more than one fourth
diameter of main bar

The load factors for live and dead load are taken
respectively as

(1) 1.5and 2.2
(3) 1.5and 1.5

(2) 22and 1.5
4) 22and 1.5
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30.

31.
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33.

34.

35.

36.

37.

The heat of hydration of cement can be reduced by

(1) reduced the proportions of CoA and CsS
(2) increasing the proportions of C3A and C3S
(3) increasing the fineness of cement

(4) both (1) and (3)

The process of evaluating cost of construction of a
project is called

(1) Estimate
(3) actual cost

(2) rough cost
(4) workable cost

The useful part of liveable area of a building is known
as

(1) carpet area

(2) circulation area

(3) horizontal circulation area
(4) plinth area

Weir may also be used to measure

(1) Velocity

(2) pressure

(3) discharge in a river or a channel
(4) kinetic energy

Workability of concrete can be improved by

(1) more sand

(2) more cement

(3) more fine aggregate
(4) all of the above

The weight of one cubic metre of R.C.C is

(1) 1400kg (2) 1800kg
(3) 2100kg (4) 2400kg

The correct relationship between theoretical oxygen
demand (TOD), biochemical oxygen demand (BOD)
and, chemical oxygen demand (COD) is given by

(1) TOD>BOD>COD
(2) TOD> COD>BOD
(3) COD>BOD>TOD
(4) BOD> COD>TOD

The bricks used for lining of furnaces are

(1) First class brick
(2) over burnt brick
(3) under burnt brick
(4) refractory brick

Cross staff is an instrument used for

(1) measuring horizontal angle
(2) setting out right angle

(3) measuring bearing of the lines
(4) none of the above
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39.

40.
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42.
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44.

45.

The slope on the road surface generally provided on
the curves is known as

(1) angle of friction
(2) angle of repose
(3) angle of banking
(4) none of these

A tensile test is performed on a round bar. After
fracture it has been found that the diameter remains
approximately same at fracture. The material under
test was

(1) mild steel
(3) Wrought iron

(2) castiron
(4) copper

The moment of resistance of a balanced reinforced
concrete beam is based on the stresses in

(1) steel only

(2) concrete only

(3) steel and concrete both
(4) none of these

In calculating the strength of a riveted joint in tearing,
shearing and crushing, the

(1) actual diameter of rivet is used

(2) actual diameter of hole drilled for rivet is used

(3) mean diameter of hole drilled and rivet is used

(4) smaller of the rivet diameter and hole diameter is used

The type of lime used in lime concrete is

(1) fatlime
(3) slaked lime

(2) poor lime
(4) hydraulic lime

Which of the following statement is wrong?

(1) The coarse sand produces a harsh and unworkable
mix.

(2) An admixture cannot increase the workability of
concrete without increasing water content.

(3) Salts of manganese cause a considerable reduction in
the strength of concrete.

(4) all of the above

The minimum load which will cause failure of a
foundation is called

(1) ultimate tensile strength

(2) nominal strength

(3) ultimate bearing power

(4) ultimate compressive strength

The raft foundations are generally used when the
required area of footing is

(1) more than one-fourth
(2) less than one-fourth
(3) more than one-half
(4) less than one-half
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53.

The minimum depth of foundation for the load bearing
wall of a building is restricted to

(1) 600 mm (2) 700 mm
(3) 800 mm (4) 900 mm

Which of the following statement is wrong?

(1) In English bond, vertical joints in the header courses
come over each other and vertical joints in the
stretcher courses are also in the same line.

(2) In English bond, the header course should start with a
queen closer.

(3) In Flemish bond, the alternate headeers of each
course are centrally supported over the strechers in
the course below.

(4) In Flemish bond, every alternate course starts with a
header at the corner.

The rectangular beam 'A' has length I, width b and
depth d. Another beam 'B' has the same length and
width but depth is double that of 'A'. The elastic
strength of beam B will be

(1) same
(3) four times

(2) double
(4) six times

A singly reinforced concrete beam of 25 cm width and
70 cm effective depth is provided with 18.75 cm? steel.
If the modular ratio (m) is 15, the depth of the neutral
axis, is

(1) 20 cm
(3) 30cm

(2) 25cm
(4) 35cm

As the percentage of steel increases

(1) Depth of neutral axis decreases
(2) Depth of neutral axis increases
(3) Lever arm increases
(4) Lever arm decreases

The thickness of base slab of a retaining wall generally
provided, is

(1) One half of the width of the stem at the bottom
(2) One-third of the width of the stem at the bottom
(3) One fourth of the width of the stem at the bottom
(4) Width of the stem at the bottom

A short column 20cm x 20cm in section is reinforced
with 4 bars whose area of cross section is 20 sg. cm. If
permissible compressive stresses in concrete and
steel are 40 kg/cm? and 300 kg/cm?, the Safe load on
the column, should not exceed

(1) 4,120 kg (2) 41,200 kg
(3) 412,000 kg (4) None of these

The curvature of the earth is taken into consideration if
the limit of survey is

(1) 50 to 100 km?
(3) 200 to 250 km?

(2) 100 to 200 km?
(4) more than 250 km?
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ARG A qRaE faR B e fa B e =@ o
B =T

(1) 600 mm (2) 700 mm

(3) 800 mm (4) 900 mm

et & @ e $99 T@a 87
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(3) WY =@ H g% GR d THK diel Ae
T P TR FHY @9 § faarad el

(4) ﬁﬁgwﬁ@m@m@aﬁﬁ
B

TF AETHK e ‘A’ 3 @96 |, 9’ b &R
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(3) IR T (4) & T
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(1) 20cm (2) 25cm
(3) 30cm (4) 35cm
Y- e P AT Sgar &

(1) SEEN 78 P e ged ©
(2) ST ST B TENE FEar &
(3) Swi® o T ©
(4) ST oI gl 8

JieaR® SR B SO W H MO W Y&W S S aw
dreE Bl

(1) T W FH qge H AR 4 o

(2) T W Fed e H AR F @ [

(3) T W FHed Uee 1 AR F T A

(4) TH W FH U H dARE

g ¥ 20cm x 20cm % UF Blc § ©H & 4 Bl q, il
FPRI-HFE F A 20 o FAeX ¥ wfowafee Rean s
B AR PR R T F orge ddigE ufew § 40
kg/cm® and 300 kg/cm*q &9 W FRE IR Fra & ot
& S amew:

(1) 4,120 kg
(3) 412,000 kg

(2) 41,200 kg

) T q PE T
gt @ R W PR e o @ 9 wdEer @ W
freTTger &
(1) 509 100 km? T&
(3) 200F 250 km® T®

(2) 100§ 200 km? T&
(4) 250 km* & 1ferp
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55.
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58.

59.

60.

A line joining some fixed points on the main survey
lines, is called a

(1) check line
(2) tieline

(3) base line

(4) none of these

In a Quadrantal system, the bearing of a line is
measured

(1) always clockwise from the south point of the reference
meridian towards the line right round the circle

(2) clockwise or anticlockwise from the east or west
whichever is nearer the line towards north or south

(3) clockwise or anticlockwise from the north or south
whichever is nearer the line towards east or west

(4) none of the above

A deflection angle in a traverse is equal to the

(1) difference between the included angle and 180°
(2) difference between 360° and the included angle
(3) sum of the included angle and 180°

(4) none of the above

To the sum of the first and last ordinates, add twice
the sum of the intermediate ordinates. The total sum
thus obtained is multiplied by the common distance
between the ordinates. One-half of this product gives
the required area. This rule of finding the area is called

(1) mid-ordinate rule

(2) trapezoidal rule

(3) average ordinate rule
(4) Simpson's rule

A groyne with a curved head is known as

(1) hockey groyne

(2) burma groyne

(3) denehy groyne

(4) Horse shoe groyne

When a cylindrical vessel, containing some liquid, is
rotated about its vertical axis, the liquid surface is
depressed down at the axis of its rotation and rises up
near the walls of the vessel on all sides. This type of
flow is known as

(1) steady flow
(2) turbulent flow
(3) vortex flow
(4) uniform flow

The ratio of quantity of liquid discharged per second
from the pump to the quantity of liquid passing per
second through the impeller is known as

(1) manometric efficiency
(2) mechanical efficiency
(3) overall efficiency

(4) volumetric efficiency
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Teq qdem el W v Fraa gl & sien amh
FHEd &
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(2) 360° T GAMEM ST & SE H A<
(3) THERG T oK 180° & IR

(4) SR T & A T

Tedl AR offtd e & AT A AegEd wiedl @ AT W
AT SNS1 3H R N A I A A & S awg gl
H IOT S 3H TOFEA F SN SR B S BT B
B O T H T8 R HEA &

59 Pl A I IHR T P SHH S A F AR
AR AT ST 3, T W AaE 3D P T W A H
3R To o & ol wvft Remel & A dd & Fe
TR H T 36 AW 81 3W @  JaR N Hel I 8

(1) 4R

(2) faefe yame
(3) = Yar®

(4) THEEN Ya@

Toile® & e @ O A%S ToRA a @A @ OAET & i
dq @ oft d%s fofRa 89 9@ @@ B AET WSS
FEAMT o

(1) AT A

(2) Fith &

(3) TWH T

(4) S T8
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67.

68.

Granite is an example of

(1) aqueous rocks
(2) sedimentary rocks
(3) metamorphic rocks
(4) igneous rocks

The commonly used lime for works under water or in
damp situations is

(1) fatlime

(2) leanlime

(3) feebly hydraulic lime

(4) eminently hydraulic lime

The workability of cement concrete can be improved
by

(1) increasing the quantity of cement

(2) increasing the proportion of coarse aggregate

(3) increasing the quantity of sand

(4) all of the above

When in the pervious strata, the surface of water
surrounding the well is at atmospheric pressure, the
well is known as

(1) gravity well
(2) artesian well
(3) open well
(4) deep well

The growth of population may be conveniently
represented by

(1) semi-logarithmic curve
(2) logistic curve

(3) straight line curve

(4) all of these

The presence of calcium and magnesium chloride in
water causes

(1) softening
(2) bad taste
(3) hardness
(4) turbidity

B-coli or E-coli are harmless organisms but their
presence in water indicates the

(1) presence of pathogenic bacteria
(2) absence of pathogenic bacteria
(3) presence of non-pathogenic bacteria
(4) absence of non-pathogenic bacteria

The ratio of the unit weight of soil solids to that of
water is called

(1) void ratio

(2) porosity

(3) specific gravity

(4) degree of saturation
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76.

Which of the following gives the correct decreasing
order of the densities of a soil sample?

(1) Saturated, submerged, wet, dry
(2) Saturated, wet, submerged, dry
(3) Saturated, wet, dry, submerged
(4) Wet, saturated, submerged, dry

The maximum water content of a saturated soil at
which a reduction in its moisture does not cause a
decrease in volume of the soil, is called

(1) liquid limit
(2) plastic limit
(3) elastic limit
(4) shrinkage limit

When the water table is close to the ground surface,
the bearing capacity of a soil is reduced to

(1) one-fourth
(2) one-half
(3) two-third
(4) three-fourth

Slump test for concrete is carried out, to determine

(1) Strength

(2) Durability

(3) Water content
(4) workability

Angles of 45°with a chain line may be set out with

(1) Optical square
(2) French square
(3) open cross staff
(4) prismatic square

Simple bending equation is

M E F M R F
M T-r°v @ T g~V
M E Y | E F
®) T-r"F A T

The slenderness ratio of a beam of square cross-
section of 20 cm side and 500 cm long is,

(1) 76.66
(2) 86.66
(3) 96.66
(4) 66.66

The length of a column, having a uniform circular
cross- section of 7.5 cm diameter and whose ends are
hinged, is 5 m. If the value of E for the material is 2100
tonnes / cm?, the permissible crippling load will be

(1) 1.28 Tonnes
(2) 12.88 tonnes
(3) 120 tonne

(4) 128 tonnes
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(1) 76.66

(2) 86.66

(3) 96.66

(4) 66.66

TH &9 R 7.5 cm W # THETH TR ST
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E® AM 2100 &/cm’ § T AIAA &9 AX e

(1) 128
(2) 12.88 7
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83.

84.

If a three hinged parabolic arch carries a uniformly
distributed load on its entire span, every section of the
arch resists

(1) Tensile force
(2) Shear force
(3) Compressive force
(4) Bending moment.

A member is balanced at its end by two inclined
members carrying equal forces, for equilibrium the
angle between the inclined bars must be

(1) 60°
(2) 80°
(3) 100°
@) 120°

As per BIS:1172-1963, water required per head per day
for average domestic purposes, is

(1) 85 litres
(2) 125 litres
(3) 135 litres
(4) 150 litres

Air valves are generally provided in pressure pipes of
water supply

(1) At pipe junctions
(2) at summits
(3) near service pipes
(4) at low points

The maximum pressure which a soil can carry without
shear failure, is called

(1) Net safe bearing capacity
(2) safe bearing capacity

(3) net ultimate bearing capacity
(4) Ultimate bearing capacity

BIS has specified the full strength of concrete after

(1) 7days
(2) 14 days
(3) 21 days
(4) 28 days

The self-compaction concrete has

(1) 25 mm
(2) 50mm
(3) 100mm
(4) 0 mm

slump value

The grade of concrete M 20 means that compressive
strength of a 15 cm cube after 28 days curing, is

(1) 20 Kg/em?
(2) 20 Kg/m?
(3) 20 N/mm?
(4) 20 KN/m?
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Setting time of cement decreases by adding

(1) Gypsum

(2) Calcium chloride
(3) Sodium oxide
(4) Calcium sulphate

Minimum number of cubes required for testing of
compressive strength of concrete

(1) 1 2) 2

(3) 3 4) 6

The grade of concrete not recommended by IS
456:2000, is

(1) M20 (2) M6e0

(3) M80 (4) M90

The process of mixing, transporting, placing and
compacting concrete using Ordinary Port land cement
should not take more than

(1) 30 minutes
(3) 60 minutes

(2) 45minutes
(4) 90 minutes

In a cantilever beam, always the tension reinforcement
bars are placed, at

(1) Side (2) Bottom

(3) Top (4) All of these

As per BIS:456-2000, the minimum diameter of
longitudinal bar for RCC column is restricted to

(1) 6 mm

(2) 8 mm

(3) 10 mm

(4) 12 mm

The Indian Standard code which deals with steel

structure, is

(1) BIS: 800
(2) BIS: 875
(3) BIS: 456
(4) BIS: 1893

The phenomenon for the internal transfer of forces
from one leg to the other is

(1) Shear lag
(2) Shear leg
(3) Shear force
(4) Shear stress

A short angle used to connect the gusset and the
outstanding leg of main member is

(1) Long angle
(2) Lug angle
(3) Equal angle
(4) Unequal angle

NBC10JNX8 [A—11]

85.

86.

87.

88.

89.

90.

91.

92.

93.

diffT F1 A P 1 H Sieq ¥ 98 AL

(1) forw

(2) HHTH FAES

(3) Hifeay eTraEe

(4) FHIT dee

Fhie & e el & e #9 @ e N ==t
T " B

(1 1
3) 3

(2) 2
(4) 6

|5z1%56:2000m¥ﬁﬁ3%m§3ﬁ6ﬁw71€iﬁ=1€%,
qg &-

(1) M20 (2) M60
(3) M80 (4) MO0

RO Géave dife % 54 FXd 8T HHAC B M H,
TAE, @7 SR de ® Re A e @ oive @ el
T TR

(1) 30 e (2) 45 e

(3) 60 e (4) 90 fee

mﬂﬁrﬁ,wwa@ﬁaﬁwwwr@

(1) 9em
(3) oy @) ¥ gsf

BIS:456-2000 % STHR STRURN &9 & ¢ orfeed &€ &1
A A e § s @ & afew:

(1) 6 mm
(2) 8 mm
(3) 10 mm
(4) 12 mm

(2) Tl

TE GO Q@ GEE ARG Ae B 8

(1) BIS: 800
(2) BIS: 875
(3) BIS: 456
(4) BIS: 1893

A B TH IS q A U B BT I A SRS AT B
fR1q geEE &

(1) STIEYET g

(2) STIEI TS

(3) STIEI A

(4) STEqY gfiEd

T oIR T&1 W5 & S%M1 IR & Sed & WY YN &
TG BT FHEAT o:

(1) & Pror
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100.

Consider the following statements:

1. On a Principal plane, only normal stress acts

2. On a Principal plane, both normal and shear stresses
acts

3. On a Principal plane, only shear stress acts

4. Isotropic state of stress is independent of frame of
reference.

Which of the above statements is/are correct?

(1) 1and 4 (2) 2only
(3) 2and4 only (4) 2and 3

A long shaft of diameter d is subjected to twisting
moment T at its ends. The maximum normal stress
acting at its cross—section is equal to

(1) Zero @ =L
nd

32T 64T

@ = @
nd nd

A thin walled cylindrical pressure vessel having a
radius of 0.5m and wall thickness of 25mm is
subjected to an internal pressure of 700KPa. The hoop
stress developed is

(1) 14MPa
(2) 1.4MPa
(3) 0.14MPa
(4) None of these

When on end of a fixed beam deflects by & then the
bending moment at deflected end is

2EI 3El
(™) = @ ==
3El 6EIl
) = (4) z

If allowable shear stress in weld is 90 N/mm? the
strength of a standard 5 mm size fillet weld per m
length would be:

(1) 225kN
(3) 450 kN

(2) 318 kN
(4) 636 kN

A short column 300 mm x 300 mm is reinforced with 4
bars of 20mm dia. (Fe-415 grade). If concrete is M-20
grade, the max. axial load P, (kN) allowed on it is:

(1) 1059.0
(2) 1159.0
(3) 1173.0
(4) None of these

If the whole circle bearing of any line as observed by a
prismatic compass is 120° its reduced bearing
reading on a surveyor’'s compass is:

(1) S 20°E (2) S 60°E
(3) N 120°E (4) N 60°E
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